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1. Consider the market of rice noodles (314 in Taiwan. Around 40 years ago, Mr. Wang developed a
new technology, which can reduce the cost to produce rice noodles. This method can also improve
the taste of rice noodles. What would happen to the equilibrium price and quantity of rice noodles
after he introduced this method to the industry around 40 years ago?

a. The equilibrium price would increase but the equilibrium quantity would be uncertain.
b. The equilibrium quantity would increase but the equilibrium price would be uncertain.
c. The equilibrium quantity and price would both increase.

d. The equilibrium quantity would increase but the equilibrium price would decrease.

2. Refer to problem 1. Yet, people recently find that this method causes some problems for human
health. Consumers cannot distinguish toxic rice noodles from those produced by traditional but
costly ways. Our government is trying to identify which restaurants and stores use product made by
this method. If our government fails in doing this job, what will happen- to the market of rice
noodles in Taiwan?

. The equilibrium price will be lower and the equilibrium quantity will be uncertain.

. The equilibrium price will be lower, but consumers can find only toxic rice noodles.

c. The equilibrium price will be lower, and consumers can still find some rice noodles produced by

traditional ways in the market. '

o i

3. Consider the diminishing marginal product, Malthusian Law of Population, and the food market
300 years ago. As the population grew, there were more labors in food production, but there were
also more people in food consumption. How would the population growth affect the equilibrium
quantity and price of food 300 years ago?

. The equilibrium price would decrease, and the equilibrium quantity would increase.

. The equilibrium price would increase, and the equilibrium quantity would increase.

c. The equilibrium quantity would increase, but the equilibrium price would be uncertain.

o'

4. Two shops, C and F, sell ice cream in a small village. The taste of ice cream sold by C and F is
almost the same. Suppose villagers live uniformly along a street (length: 6 km); villagers all want to
pay NT75 to have a cup of ice cream. One year ago, the shop C was located at one end of the
street, and F was located at the other end. They competed on price, and had the same marginal
cost; MCc = MCr = NT25. What were the possible prices of a cup of ice cream for C and F in the
Nash equilibrium?

a. (Pc*, Pr¥)=(35,30)
b. (Pc*, Pr*)=(30, 30)
C. (Pc*, Pp*) = (30, 25)
d. (Pc*, Pr¥) =(25, 25)

5. Refer to problem 4. Recently, a veteran worker left the shop C; they had no choice but hired a
novice. The shop C’s marginal cost increases by 20%. What are the possible prices of a cup of ice
cream for C and F in the Nash equilibrium now?

a. (Pc*, Pe*) = (34, 32)
b. (Pc*, Pr*)=(35,30)"
c. (Pc*, Pe*) = (30, 30)
d. (Pc*, Pp*) = (30, 25)
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6. Refer to problem 5 (MCc = NT30; MCr = NT25). Suppose the owner of C is forced to move his
store to the end where F is located at; C and F are at the same location. What is the equilibrium
market price for a cup of ice cream in this market?

a. P*=125
b. P*=29
c. P*=32
d. P*=35
7.
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A huge lake is surrounded by five families. No one owns the lake now. Each family can use $35k
either to construct a farm that pays $7k per year, or build a ship and fish in the lake. The value of
fishes they can catch every year depends on the number of ships operating on the lake, as shown in
the following table. What is the socially optimal number of ships operating on the lake?

Number of ships The value of fishes each ship can catch
1 10k
2 9k
3 8k
4 7k
5 6k

BN =

. Refer to problem 7. You have some money; you can buy the lake or deposit the money in a bank at

5 percent annual interest rate. If owning the lake, you can charge the family for the right of fishing.
What is the maximum price you are willing to pay for the lake?

$90k
. $80k
$70k
. $60k

Consider a game with a payoff matrix below: Peter and John are working together for moving
heavy boxes. If both of them work hard, they can complete the job within one day. If only one
works hard, the guy working hard will be hurt. What are the payoffs for the two guys in the pure-
strategy Nash equilibrium/equilibria in this game?

. (-2,2) and (2,-2)

Peter
Work Lazy
John Work (4,4) (-2,2)
Lazy (2,-2) (0,0)
. 44
. (0,0) and (4,4)
. (0,0)

10. Refer to problem 9. If John moves first and Peter can see John’s action, what is the payoff of the
sub-game perfect equilibrium in the extensive-form game?

o o

[a

. (44)

. (0,0) and (4,4)

. (0,0)

. (2.2) and (2,-2)
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1. A consumer expenditure survey reports the following information on entertainment spending:
2012 2013
Price Quantity Price Quantity
Movies $7 5 $8 7
Concerts $30 2 $35 2
CDs $16 7 $15 10
Using 2012 as the base year, by how much does a "cost of entertainment” 1ndex increase between
2012 and 2013?
2. The following table provides data for an economy in a certain year.
Consumption expenditure 1,000
Imports 600
Government purchases of goods and services 700
Construction of new homes and apartments 500
Sales of existing homes and apartments 600
Exports 500
Government payments to retirees 200
Household purchases of durable goods 300
Beginning-of-year inventory 500
End-of-year inventory 600
Business fixed investment 300
Given the data in the table, compute the value of GDP.

3. If planned aggregate spending in an economy can be written as PAE = 15,000 + 0.6Y - 20,000r,
and potential output equals 36,000, what real interest rate must the Federal Reserve set to bring the
economy to full employment?

4. An economy produces only 500,000 tables valued at $100 each. Of these, 100,000 are sold to
consumers, 200,000 are sold to businesses, 100,000 are sold to the government, and 50,000 are
sold abroad. No tables are imported. The unsold tables at the end of the year are held in inveéntory
by the table manufacturers. What is the value of GDP?

5. Based on the information in the table below, what is the unemployment rate?

Population 16 and older 1,000,000
Participation Rate 80%
Employed Workers 720,000

6. In a small town of 100 people, there are 10 children under 16, 10 retired people, 60 people with
full-time jobs, 3 people with part-time jobs, 3 full-time students over 16, and 4 full-time
homemakers. The remaining people did not have jobs, but wanted jobs. All but one of these had
actively looked for a job in the previous four weeks. What is the unemployment rate in this town?

7. The CPI equals 1.00 in year one and 1.15 in year two. If the nominal wage is $15 in year one and
a contract calls for the wage to be indexed to the CPI, what will be the nominal wage in year two?

8. In Macroland there is $12,000,000 in currency. The public holds half of the currency and banks

hold the rest as reserves. If banks' desired reserve/deposit ratio is 12.5%, what is the money supply
in Macroland?
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9. Sydney purchases a newly-issued, two-year government bond with a principal amount of $10,000

10.

%

Z

1.

and a coupon rate of 6% paid annually. One year before the bonds matures (and after receiving the
coupon payment for the first year), Sydney sells the bond in the bond market. What price (rounded
to the nearest dollar) will Sydney receive for his bond if newly-issued one-year government bonds

are paying a 5% coupon rate?

The economy of Alpha operates according to Okun's law. In Alpha, potential GDP equals $500
billion, actual GDP equals $480 billion, and the natural rate of unemployment is 5 percent. What

is the actual rate of unemployment in Alpha?

CHE PR R RHEAE (#105) o

You have fish ponds for milkfish farming (F, B £&%&%H). You can do this business by yourself, and
the cost is NT500K. Although you work hard, you still have 1/4 chance to harvest your fish in bad
conditions. In this case, you can earn only NT800K from selling your fish. Yet, if you get your fish
in good conditions (in 3/4 chance), you will earn NT1,600K. from selling your fish. You can hire a
milkfish farming expert. If he works hard, you have 3/4 chance to earn NT2,400K from selling your
fish, and 1/4 chance to earn NT800K from selling your fish. If he does not work hard, you have
only 1/8 chance to earn NT2,400K from your fish, and 7/8 chance to earn NT800K from your fish.
The cost of working hard for the expert is NT200K; if he does not choose working hard, there is no
cost for him. Of course, you should pay him a salary; if the salary is too low, he will reject your
offer. He can get NT600K from working for someone else. If you hire the expert, you do not know
whether he works hard or not; you can only know that you earn NT2,400K or NT800K.

a. Now, you plan to hire the agent. In order to give him an incentive to work hard, you want to give
him a bonus. His basic salary (JEE&T) is NT520K, and the bonus is 10% of the money you earn.
For example, if you earn NT800K from your fish, he can get NT600K (basic salary + bonus).
Will he choose working hard under this salary scheme? Why? (4 pts)

b. Please write down a salary scheme (& /72€) better than the scheme above, under which you can

earn more money and he will also choose working. (6 pts)
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Consider the market of rice noodles (3Ki4) in Taiwan. Around 40 years ago, Mr. Wang developed a
new technology, which can reduce the cost to produce rice noodles. This method can also improve
the taste of rice noodles. What would happen to the equilibrium price and quantity of rice noodles
after he introduced this method to the industry around 40 years ago?

The equilibrium price would increase but the equilibrium quantity would be uncertain.

The equilibrium quantity would increase but the equilibrium price would be uncertain.

The equilibrium quantity and price would both increase.

The equilibrium quantity would increase but the equilibrium price would decrease.

Refer to problem 1. Yet, people recently find that this method causes some problems for human
health. Consumers cannot distinguish toxic rice noodles from those produced by traditional but
costly ways. Our government is trying to identify which restaurants and stores use product made by
this method. If our government fails in doing this job, what will happen to the market of rice
noodles in Taiwan?

The equilibrium price will be lower and the equilibrium quantity will be uncertain.

The equilibrium price will be lower, but consumers can find only toxic rice noodles.

The equilibrium price will be lower, and consumers can still find some rice noodles produced by

traditional ways in the market.

. Consider the diminishing marginal product, Malthusian Law of Pepulation, and the food market

300 years ago. As the population grew, there were more labors in food production, but there were
also more people in food consumption. How would the population growth affect the equilibrium
quantity and price of food 300 years ago?

The equilibrium price would decrease, and the equilibrium quantity would increase.

The equilibrium price would increase, and the equilibrium quantity would increase.

The equilibrium quantity would increase, but the equilibrium price would be uncertain.

. Two shops, C and F, sell ice cream in a small village. The taste of ice cream sold by C and F is

almost the same. Suppose villagers live uniformly along a street (length: 6 km); villagers all want to
pay NT75 to have a cup of ice cream. One year ago, the shop C was located at one end of the
street, and F was located at the other end. They competed on price, and had the same marginal
cost; MCc = MCg = NT25. What were the possible prices of a cup of ice cream for C and F in the
Nash equilibrium?

- (Pc*, Pe*) = (35, 30)

. (Pc*, Pr¥) = (30, 30)

. (Pc*, Pe*)=(30,25)

. (Pc*, Pr¥) =(25,25)

. Refer to problem 4. Recently, a veteran worker left the shop C; they had no choice but hired a

novice. The shop C’s marginal cost increases by 20%. What are the possible prices of a cup of ice
cream for C and F in the Nash equilibrium now?

. (Pc*, Pe*)=(34, 32)

. (Pc*, PF*) = (35, 30)°

. (Pc*, Pp*) = (30, 30)

. (Pc*, Pe*) = (30, 25)
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6. Refer to problem 5 (MCc = NT30; MCr = NT25). Suppose the owner of C is forced to move his
store to the end where F is located at; C and F are at the same location. What is the equilibrium
market price for a cup of ice cream in this market?

a. P*=25
b. P*=29
c. P¥=32
d. P*=35

7. A huge lake is surrounded by five families. No one owns the lake now. Each family can use $35k
either to construct a farm that pays $7k per year, or build a ship and fish in the lake. The value of
fishes they can catch every year depends on the number of ships operating on the lake, as shown in
the following table. What is the socially optimal number of ships operating on the lake?

Number of ships The value of fishes each ship can catch
1 10k
2 9k
3 8k
4 7k
5 6k

oo
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8. Refer to problem 7. You have some money; you can buy the lake or deposit the money in a bank at
5 percent annual interest rate. If owning the lake, you can charge the family for the right of fishing.
What is the maximum price you are willing to pay for the lake?

a. $90k
b. $80k
c. $70k
d. $60k

9. Consider a game with a payoff matrix below: Peter and John are working together for moving
heavy boxes. If both of them work hard, they can complete the job within one day. If only one
works hard, the guy working hard will be hurt. What are the payoffs for the two guys in the pure-
strategy Nash equilibrium/equilibria in this game?

Peter
Work Lazy
John Work (4,4) (-2,2)
Lazy (2,-2) (0,0)
a. (4,4)
b. (0,0) and (4,4)
c. (0,0
d. (-2,2) and (2,-2)

10. Refer to problem 9. If John moves first and Peter can see John’s action, what is the payoff of the
sub-game perfect equilibrium in the extensive-form game?

a. (4,4)

b. (0,0) and (4,4)
c. (0,0)

d. (-2,2) and (2,-2)
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1. If planned aggregate spending in an economy can be written as PAE = 15,000 + 0.6Y - 20,000r,
and potential output equals 36,000, what real interest rate must the Federal Reserve set to bring the
economy to full employment?

2. Based on the information in the table below, what is the unemployment rate?

Population 16 and older 1,000,000
Participation Rate 80%
Employed Workers 720,000

3. In a small town of 100 people, there are 10 children under 16, 10 retired people, 60 people with
full-time jobs, 3 people with part-time jobs, 3 full-time students over 16, and 4 full-time
homemakers. The remaining people did not have jobs, but wanted jobs. All but one of these had
actively looked for a job in the previous four weeks. What is the unemployment rate in this town?

4. Samantha is lending Jack $1,000 for one year. The CPI is 1.60 at the time the loan is made, and
they both expect it to be 1.68 in one year. If Samantha and Jack agree that Samantha should earn a
3% real return for the year, what should the nominal interest rate be on this loan?

5. Given the following data for the economy, compute the value of GDP.

Government purchases of goods and services =~ 10
Consumption expenditure 70
Exports 5

Imports 12
Sales of existing homes and apartments 22
Construction of new homes and apartments 15
Government payments to retirees 17
Change in inventory -7
Business fixed investment 9

6. Where Y is GDP, C is consumption, / is investment, G is government spending, and there is no
international trade, what is the valve of national saving?

7. An economy produces only 500,000 tables valued at $100 each. Of these, 100,000 are sold to
consumers, 200,000 are sold to businesses, 100,000 are sold to the government, and 50,000 are
sold abroad. No tables are imported. The unsold tables at the end of the year are held in inventory
by the table manufacturers. What is the value of GDP?

8. In Macroland there is $12,000,000 in currency. The public holds half of the currency and banks
hold the rest as reserves. If banks' desired reserve/deposit ratio is 12.5%, what is the money supply
in Macroland?

9. Ifthe frictional rate of unemployment equals 2 percent, the structural rate of unemployment equals
3 percent, and the cyclical rate of unemployment equals 1 percent, what is the natural rate of
unemployment?

10. The economy of Omega operates according to Okun's law. In Omega, the actual and the natural

rates of unemployment equal 5 percent, and real GDP equals $10 trillion. What is potential GDP
in Omega?
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1. You have fish ponds for milkfish farming (& E & &JH). You can do this business by yourself, and
the cost is NTS00K. Although you work hard, you still have 1/4 chance to harvest your fish in bad
conditions. In this case, you can earn only NT800K from selling your fish. Yet, if you get your fish
in good conditions (in 3/4 chance), you will earn NT1,600K from selling your fish. You can hire a
milkfish farming expert. If he works hard, you have 3/4 chance to earn NT2,400K from selling your
fish, and 1/4 chance to earn NT800K from selling your fish. If he does not work hard, you have
only 1/8 chance to earn NT2,400K from your fish, and 7/8 chance to earn NT800K from your fish.
The cost of working hard for the expert is NT200K; if he does not choose working hard, there is no
cost for him. Of course, you should pay him a salary; if the salary is too low, he will reject your
offer. He can get NT600K from working for someone else. If you hire the expert, you do not know
whether he works hard or not; you can only know that you earn NT2,400K or NT800K.

a. Now, you plan to hire the agent. In order to give him an incentive to work hard, you want to give
him a bonus. His basic salary (JEEEF) is NT520K, and the bonus is 10% of the money you earn.
For example, if you earn NT800K from your fish, he can get NT600K (basic salary + bonus).
Will he choose working hard under this salary scheme? Why? (4 pts)

b. Please write down a salary scheme (#7& J52) better than the scheme above, under which you can

earn more money and he will also choose working. (6 pts)
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Consider the market of rice noodles (>Kif7) in Taiwan. Around 40 years ago, Mr. Wang developed a
new technology, which can reduce the cost to produce rice noodles. This method can also improve
the taste of rice noodles. What would happen to the equilibrium price and quantity of rice noodles
after he introduced this method to the industry around 40 years ago?

The equilibrium price would increase but the equilibrium quantity would be uncertain.

The equilibrium quantity would increase but the equilibrium price would be uncertain.

The equilibrium quantity and price would both increase.

The equilibrium quantity would increase but the equilibrium price would decrease.

. Refer to problem 1. Yet, people recently find that this method causes some problems for human

health. Consumers cannot distinguish toxic rice noodles from those produced by traditional but costly
ways. Our government is trying to identify which restaurants and stores use product made by this
method. If our government fails in doing this job, what will happen to the market of rice noodles in
Taiwan?

. The equilibrium price will be lower and the equilibrium quantity will be uncertain.
. The equilibrium price will be lower, but consumers can find only toxic rice noodles.

The equilibrium price will be lower, and consumers can still find some rice noodles produced by
traditional ways in the market.

Consider the diminishing marginal product, Malthusian Law of Population, and the food market
300 years ago. As the population grew, there were more labors in food production, but there were
also more people in food consumption. How would the population growth affect the equilibrium
quantity and price of food 300 years ago?

The equilibrium price would decrease, and the equilibrium quantity would increase.

. The equilibrium price would increase, and the equilibrium quantity would increase.

The equilibrium quantity would increase, but the equilibrium price would be uncertain.

Two shops, C and F, sell ice cream in a small village. The taste of ice cream sold by C and F is almost
the same. Suppose villagers live uniformly along a street (length: 6 km); villagers all want to pay
NT75 to have a cup of ice cream. One year ago, the shop C was located at one end of the street,
and F was located at the other end. They competed on price, and had the same marginal cost; MCc
= MCr = NT25. What were the possible prices of a cup of ice cream for C and F in the Nash
equilibrium?

(Pc*, Pr*) = (35, 30)

(Pc*, Pr*) = (30, 30)

(Pc*, Pr*) = (30, 25)

(Pc*, Pr*) = (25, 25)

. Refer to problem 4. Recently, a veteran worker left the shop C; they had no choice but hired a novice.

The shop C’s marginal cost increases by 20%. What are the possible prices of a cup of ice cream for
C and F in the Nash equilibrium now?

(Pc*, Pe*) = (34, 32)

(Pc*, Pr*)=(35,30) -

(Pc*, Pr*) = (30, 30)

(Pc*, Pr*) = (30, 25)




EEENPE SIRE E3-2-E3 LB &2 L e e

HELW: BHET [LF 4 FHALHET @] FEH : 441003
SRR BRI ERR TATR )RR M $4AH2R

6. Refer to problem 5 (MCc = NT30; MCr = NT25). Suppose the owner of C is forced to move his store
to the end where F is located at; C and F are at the same location. What is the equilibrium market
price for a cup of ice cream in this market?

a. P*=25
b. P*¥=29
c. P¥*=32
d. P*=35

7. A huge lake is surrounded by five families. No one owns the lake now. Each family can useé $35k
either to construct a farm that pays $7k per year, or build a ship and fish in the lake. The value of
fishes they can catch every year depends on the number of ships operating on the lake, as shown in
the following table. What is the socially optimal number of ships operating on the lake?

Number of ships The value of fishes each ship can catch
1 10k
2 9k
3 8k
4 7k
5 6k
a. 1 ‘
b. 2
c. 3
d 4

8. Refer to problem 7. You have some money; you can buy the lake or deposit the money in a bank at 5
percent annual interest rate. If owning the lake, you can charge the family for the right of fishing.
What is the maximum price you are willing to pay for the lake?

$90k
. $80k
$70k
. $60k

o o

9. Consider a game with a payoff matrix below: Peter and John are working together for moving heavy
boxes. If both of them work hard, they can complete the job within one day. If only one works hard,
the guy working hard will be hurt. What are the payoffs for the two guys in the pure-strategy Nash
equilibrium/equilibria in this game?

Peter
Work Lazy
John Work (4,4) (-2,2)
Lazy (2,-2) (0,0)
- a. (4,4)
b. (0,0) and (4,4)
c. (0,0

d (2,2) and (2,-2)

10. Refer to problem 9. If John moves first and Peter can see J ohn’s action, what is the payoff of the sub-
game perfect equilibrium in the extensive-form game?

. (44 '

. (0,0) and (4.,4)

. (0,0

d. (-2,2) and (2,-2)

o o
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In a certain economy, the components of planned spending are given by:
C =500+ 0.8(Y - T) - 3007, £¥=200 - 4007, G =200, NX =10, T = 150.
Given the information about the economy above, what is the planned aggregate expenditure (PAE)?

If planned aggregate spending in an economy can be written as PAE = 15,000 + 0.6Y - 20,000r, and
potential output equals 36,000, what real interest rate must the Federal Reserve set to bring the
economy to full employment? '

Based on the information in the table below, how big is the labor force?

Population 16 and older 1,000,000
Participation Rate 80%
Employed Workers 720,000

A consumer expenditure survey reports the following information on entertainment spending:

2012 2013
Price Quantity Price Quantity
Movies $7 5 $8 7
Concerts $30 2 $35 2
CDs $16 7 $15 10

Using 2012 as the base year, by how much does a "cost of entertainment" index increase between
2012 and 20137

In a small town of 100 people, there are 10 children under 16, 10 retired people, 60 people with full-
time jobs, 3 people with part-time jobs, 3 full-time students over 16, and 4 full-time homemakers.
The remaining people did not have jobs, but wanted jobs. All but one of these had actively looked
for a job in the previous four weeks. What is the unemployment rate in this town?

In Macroland there is $12,000,000 in currency. The public holds half of the currency and banks hold
the rest as reserves. If banks' desired reserve/deposit ratio is 12.5%, what is the money supply in
Macroland?

The following table provides data for an economy in a certain year.

Consumption expenditure 1,000
Imports 600
Government purchases of goods and services 700
Construction of new homes and apartments 500
Sales of existing homes and apartments 600
Exports 500
Government payments to retirees 200
Household purchases of durable goods 300
Beginning-of-year inventory 500
End-of-year inventory 600
Business fixed investment 300

Given the data in the table, compute the value of GDP.

2h o8
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Samantha is lending Jack $1,000 for one year. The CPI is 1.60 at the time the loan is made, and they
both expect it to be 1.68 in one year. If Samantha and Jack agree that Samantha should earn a 3%
real return for the year, what should the nominal interest rate be on this loan?

Sydney purchases a newly-issued, two-year government bond with a principal amount of $10,000
and a coupon rate of 6% paid annually. One year before the bonds matures (and after receiving the
coupon payment for the first year), Sydney sells the bond in the bond market. What price (rounded
to the nearest dollar) will Sydney receive for his bond if newly-issued one-year government bonds

are paying a 5% coupon rate?

The economy of Alpha operates according to Okun's law. In Alpha, potential GDP equals $500
billion, actual GDP equals $480 billion, and the natural rate of unemployment is 5 percent. What is

the actual rate of unemployment in Alpha?

- EvHhA FE AN ERE (#30109) o

You have fish ponds for milkfish farming (& H £&7E). You can do this business by yourself, and
the cost is NT500K. Although you work hard, you still have 1/4 chance to harvest your fish in bad
conditions. In this case, you can earn only NT800K from selling your fish. Yet, if you get your fish in
"good conditions (in 3/4 chance), you will earn NT1,600K from selling your fish. You can hire a
milkfish farming expert. If he works hard, you have 3/4 chance to earn N'T2,400K from selling your
fish, and 1/4 chance to earn NT800K from selling your fish. If he does not work hard, you have only
1/8 chance to earn NT2,400K from your fish, and 7/8 chance to earn NT800K from your fish. The
cost of working hard for the expert is NT200K; if he does not choose working hard, there is no. cost
for him. Of course, you should pay him a salary; if the salary is too low, he will reject your offer. He
can get NT600K from working for someone else. If you hire the expert, you do not know whether he
works hard or not; you can only know that you earn NT2,400K or NT800K. _
a. Now, you plan to hire the agent. In order to give him an incentive to work hard, you want to give
him a bonus. His basic salary (JEEEF) is NT520K, and the bonus is 10% of the money you earn. For
example, if you earn NT800K from your fish, he can get NT600K (basic salary + bonus). Will he
choose working hard under this salary scheme? Why? (4 pts)
b. Please write down a salary scheme (37& /72) better than the scheme above, under which you can

earn more money and he will also choose working. (6 pts)
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1. Find the derivative of the following. (3 4 /]\%8) (20%)
Suppose f(1)=2,/'(D=-1Lg(1)=-2,g'(1)=3, find'(1)
ACICN ii. where h(x)= X (x)
f(x)-g(x) x+g(x)
iii. Find dy/dx at x=1,y =2 where x*y*+6x* = y+12

iv. Find dy/dx where y=In+/x

1. where A(x) =

2 Evaluate the following . ( 4£ 6 /\88) (30%)
i.Find f(x), where f'(x)=e*-2x, f(0)=2

.. e** . Inx 1-vx el
1. dax . | —=dx vi. dax V. |—=dx
e N s 7

Vi j I f(x,y)dA giventhat f(x,y)=x"+y* and R is the region bounded by the graphs of g(x)=x
R

and h(x)=3x for 0<x<2.

3. Sketch the following functions. Indicate domain, intercepts, increasing and decreasing interval,
concavity, local extrema, inflection points, and asymptotes, (£ 2 /\8) (20%)

i f(X)=——, i g)=e -t

x
x-1

4. Approximate e’ by a third degree Taylor polynomial about x =0,
and give the bound for the approximation error. (10%)

5. XBERAFTHRTERSEHRES SO =141 +.68:+3.1,(0<1<6),t th B2 4 > t=0 % 2008 &
L FRZEEYFRHBEATEE (2008) SR EAHM? EHG ERRRE AT ?
. FEAE 2013 FE e & RERE AN ? (10%)

6 FRTRENNE—BHEER Y LAY EHTHER

R(x,y)=—2x>—2.5y* —2xy +2000x + 1600y

XREZBROBFE  yREARZREECEHG4H. - FRYBERERE
C(x,y)=1000x+700y+40000 - sFRIE RN 8 # EHBERAL  FRERIRREES VERATF?
(10%)
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1. The soccer league in England is notorious for the number of team managers fired over
the course of a single season, which stands at no fewer than eight managers on average,
owing to poor team form and consequently, poor results. It is evident from this
information that the league endorses a(n) view of management.

A) omnipotent
B) symbolic
C) democratic
D) laissez-faire

2. Which of the following changes has resulted in the shifting of organizational
boundaries?
A) increased competitiveness
B) digitization
C) increased emphasis on organizational ethics
D) changing security threats

3 The total world population in 2010 is estimated at almost 7 billion individuals. The total
world population is forecasted to hit 9 billion by 2050, at which point the United Nations
predicts the total population will either stabilize or peak after growing for centuries at an
ever-accelerating rate. The main reason for this major shift is

A) the alarming rate of depletion of natural resources necessary for sustaining the
population

B) the unprecedented rate at which world population is aging

C) the decline in birthrates as nations advance economically

D) the high level of mobility of the international workforce across national borders

4 Toby is hunting for a new apartment. He is specifically looking for one that is located in
the heart of the city and should be available for $600 per month. However, Toby is also
willing to pay up to $850 per month for a place that is situated slighted away from the
city center. According to him, the second option "will also do." This is an example of

A) intuitive decision making
B) rational decision making
C) non-linear thinking
D) bounded rationality

5 Defining the organizational mission forces managers to identify
A) what the competitor is doing
B) what the organization is in business to do
C) what the labor supply is like in the locations where the organization operates
D) what pending legislation will affect the organization

B A
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6 Kraft combines elbow macaroni, cheese, and cardboard to make packages of Kraft
Macaroni and Cheese. This most closely resembles a(n) process.

A) synthetic

B) analytical
C) assembly
D) combined

7 All of the following are characteristics of the introduction stage of the product life cycle

except
A) relatively few competitors.
B) the appearance on the market of refinements or extensions of the original product.
C) often, high price.
D) low consumer awareness and acceptance of the product.

8 ~ John works for Texas Instruments. His tasks involve traveling to nearby colleges,
interviewing students for hire after graduation, selecting certain ones to be invited for an
office visit, and acquainting them with the facilities. He is in which phase of the HRM
process?

A) Orientation and employee relations

B) Developing and training human resources
C) Acquiring human resources

D) Human resources planning

9 Vince is saving to buy his first car. The Honda Civic coupe he wants is $20,000 right
now, but it will take at least a year for him to accumulate the down payment. He also
knows that although money is a store of value, he will probably need more than $20,000
to buy the car next year because of

A) deflation

B) recession.

C) low interest rates.
D) inflation.

10 Information rules do all of the following except
A) help both managers and consumers make decisions.
B) shorten the time spent analyzing choices.
C) remain valid forever once they are established.
D) emerge when research confirms the same results in repeated trials.

11 BURGER KING's developed a fat-fryer machine that reduced the amount of oil used to
cook French fries by 30 percent over its current cookers. This is an example of an
attempt to improve the organization's:

A) Effectiveness.
B) Efficiency.

C) Planning.

D) Organizing
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12 When a CEO draws a picture of the reporting relationships that will occur

13

14

15

16

17

A)
B)

D)

A)
B)
)
D)

A)
B)
C)
D)

A)
B)
)
D)

A)
B)
©)
D)

A)
B)
C)
D)

under a management reorganization, this is an example of:
Planning.

Leading.

Organizing.

Demonstrating.

Iris, who runs her own small business, treats all her employees,

customers, and suppliers fairly, regardless of their age, gender, or ethnicity.
She is acting in the role by doing this.

Decision-maker

Liaison

Leader

Figurehead

A plant supervisor orders some raw materials whenever his raw materials
inventory reaches a certain point. This is an example of which type of
decision?

Intuition

Satisficing

Nonprogrammed

Programmed

In general, the more complicated the technology, the the need for a flexible
organizational structure; and the routine the technology, the

appropriate is the use of a formal organizational structure.

greater; more; less

less; more; less

greater; more; more

greater; less; less

Managers should design flexible structures for their organization when:
its environment is stable

its technology is simple

its workforce is highly skilled

its strategy is well understood

Subway Corporation made the basic decision that it would combine the jobs of "chef"
and "food server" into a single job description. This was an example of:
continuous-process technology.

a divisional structure.

a product structure.

job design.
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18 The idea behind the concept of "job enrichment" is that a worker's

19

20

A)
B)
C)
D)

A)
B)
C)
D)

A)
B)
©)
D)

CHITLAZ I3 2FEALEATFERLASHAE

responsibility will the worker's involvement in his or her job and
the worker's interest in the quality of the goods the worker produces.
increasing; decrease; decrease
decreasing; increase; increase
increasing; increase; decrease
increasing; increase; increase

In general, the greater the uncertainty in the organization's environment, the
complex the organization's strategy; and the less skilled its workforce, the
likely that the organization will use a flexible organizational structure.

less; less

more; more

less; more

more; less

When an issue is controversial and when different managers might be expected to -
champion different courses of action, the preferred technique is:

production blocking

brainstorming

team learning

nominal group

=~ [ (25%)

ﬁ&,mﬁﬁﬁ.:‘ti_mﬁ% 2014 2R WARINS é%ﬁﬁﬁﬁﬁ%mﬁmu\ BB RIGHE -
1. BER{aEE s ESRNE (first-mover)? (5%)

2. SRHESRUEHE (BT (8%)AB—REDI (2%)

3. SERIEE RS 8%)ME—REEH 2%)

=~ fEEDT 25%)

BRI x%%ﬁ’\@ﬁﬂméﬁéﬁ% » SREE M B B N S R B A 2R Fﬁﬁéﬁylﬁ'ﬂ%
Etnnoce_ntrlc » Polycentric » 3B Geocentric YIRS » WERIFE =TEHERIVESE - 8%)

BRETITE Bﬁw%%ﬁk"mﬁFﬁﬁi%@ﬁfﬁfk%ﬁmé’ﬂf’ﬁ%  BEGHE ° (10%)

n)% i;;%
1.
2.
3.

MRFEABHFIFERE - RENFEEIIREIVER - (1%)

DB - [EE YR :




B f K103 25 ERATEAL S04 LA

HFBEE FTEHBC[2FATHEALHECLE] AA5% 441006
MEAABKRAERE TRAT ) EASES £TEESE

—(EfEE L EI R TR A e

ERIZRIE  http://noah4672.wordpress.com/2012/08/09/%E8%BD%89%E8%B2%BC-
%E4%B8%80%E5%80%8B%ES5%BE%B7%E5%9C%8B%E4%B8%8A%ES5%SF%BS%ES5%B0%8D%
E9%81%B2%E5%88%B0%E6%89%A3%E5%B7%A5%E8%B3%87%E7%9A%84%E5%8F%8DY%ES
%87%89-%E9%80%99%E4%BB%BDY%E5%9A%B4%E8%ACY%BY/

ZSPLH0 Dunffiker - N2 » 45 H I T —ERBHNTXEF—B R - ERRAR
3T #TIE  B—RE - NEREEREEENHE  AERI5E.

BB REVPE LEERT - KAPERR T MRERRMASTIEE - BIFEE - Bk
EEMBEEAFIN > FRHRE T RmFTE - BAEA > Mt RVFEERERRYENE
ANEFEMBBERERE - ANEFEER MR AEATRFOCEES - MEeRSmBEs:
—EAGE - B BR—EHRENEEA - thEORBSTRE -

PRITERIF R » RRREBMIAIEE R IFHIMEE  “B B4 » 224 | "Every thing is ok,boy?” 4&&
TERMA S TITZEREY - B5HET > Rat -

AR - B T OENTER  REMWMAEET - BT8R SHMtE2eH - B
ARSI BRI B A BT -

IMEVTIERESH » FHUT ZA o BEET

SRRGESeAEEETE - B R RKAETER » R E—RMaTmAE -
) %Fﬁ%?@fﬁﬁﬁ:ffﬁ%i% » BRRGAIEE IR - “SHIREFRE BT B T TE B A
—IH?”

FARL R E O OESE T IMER R RSN T - OEA Sl N - — IS SRR issg -

Sk - BAEHE  RUBANLE - BT LEESREHRAN - 45885 RETRIEEET
Bl EERRRSINAENS BRSNS LR -

SEATRE > SETREIBT ? BT -

BN RBBEFGERE R EOMETRT » 1B - wheppy? TR » REUTRIE » EH
BT FRE?

B BABATINATEN - WEASEMNEIITREE - BRI THAEY
AR - !

BTISeL - BREAHE AT HEEAE - 4 BRIV LB HI5RE R
SRE g

BN REBIET  EEA T 4 -

R | A TRFS - R SO I THRERIE T8 ? REAT-HAE
T iR s R E RS ST | 7

—RT R - WEEER R B RS ERT RR T AR
SIS ? HERHRIERE EH RS TR S B EA ? A DEBS A S EERITHESE
HRGER LT ATTR?

Sulk » ERAE T B - RIMBET IR O CERTIRIERE - 1T 483
HIREL |

Ak 2]
{ 21 g”*‘?;}i—f el



Bt kS 103 L45EALERAEF5E LSRR

HELM: smar [oFATHRALHECEA] F3E ¢ 441006
‘ XAFBEREERE TRATU, ERATESR H£TEH6E

UL o BRI R ES BT ? S iE B EE L R A4 IEHERT 7

“VENEEIF - SREEEE—TEABEEEMRESE  LEFREETF MR FIHE
B BESEAIASEIIENEIHEEERIT R - BUST | FoKEERERMIAEEE TR
4 EFFTDIBEE IS ? | fREETHESE? 17
: #ZIL 5 B BERMERANAT  GREEENEEFT - BRI TDE
G » HLER - ,

SRS UL - RAREIEET | BREATE - FRERMINER | INEXF  AAHEE | £
RETEM > FREEmE -

BIETFNRETER  EENET -

“EEiE | fHIFEE > BRIRGELLA ? URERIN B TEFIR A A 0 BRFIERILEEEER
é ' 5

0 5 AN (R REIEE ? I B RREE 2 BRI ? FRRREIILE ? B
S ANEER] ?

LIRS H# E At < BIVFERERTE » BRihst - B REZ EREETIAES
[IFb ? b3

RESA I SECRNEE - 1T BT WIE > &FIT - FEETHETESR  LEE
HIVERTIE » RIFERRBUE. » REERL » ERTRAENEEIAE

“EE3E » SEFRAEAE o HELIR—{E solution” - "Oklwaiting for your solution." ({Fj » FEZ{R
BRI )

W TEEE » FMIBTHEEL T R  FEESHHEIN  HS8EEL  RITEEEHET -

— AT EERRESRENES - BT RIS TFERTIZS - A — 44T
BT -

—(EEE_E BRI T RN IE B EEES NTER
WRHLT » E5EEE—SRaMavEE: - $158 » REITARSE
DTFREIAAE:

0E » BEZE | |

KB S o FASIR—(EREN B TERIEAYRARVESW T © "

— BTXZCES » iMAEIEIPI R EIMBEE - IREENRE - MRS SIEREDN
FEERAMIEE TTEES - JF > SMEstERttss T2/ 0 FRATHKERH
FEFEIREE I RS A M B A BNV BTN - HEfR RSB -

o BTETET oSS R 4EBEAEEE - HEEBMEL - BB
O EREISHELFFETEINEE - BEBREIN S TEEREE -

=, BTESIES - BREMSGEE » IsHtTRELEY » HTHRES

I B TENICET] - BRI EMEGE » AT RE—NERE - LB
AR EE—RES -

F > BTESERIOES] - FHRELETHEE » EREIREMT > EREREN "




Bt hA$ 103 25 EFLTERLEHEZ AL AR

FELMS: FEEC [oFATFHEATHETE] % ¢ 441006
MAFBREERLT " AT AT HA £TEHETR
LgF
SRS

% FEIR | RBHER LE  CEERBESRT | GRS T RS W HENAT
FEM > EIRTIERTHRER - BRI - Z/OEFEEEER - R EEE ? A5HRTIF_ LB ER
fIE=REMRE !

IESREERSH » BIRGE ok T S " H 8¢ - REWT ¢
LUTNZESIAAE
FREFHIREEE °

RER AELE » [EZBRAFIRES B TN TERZERREN - (REAEID
£18 TARRENE R - W H - (R EERAR AT SERTERATES » RAY
SEERTT RSN TR TIRE » BN TIEAE LHVEERRE - !

S IREZEER TEEAMETLE - —EENEFERRRESARINEER] > &
BT LRAEY - AEZINSHMINIE - AT EAHENAT  AFNE EREEE
BTH - 18 - IREAER - —% » BEEIRBIHZIETE - ERWE B LIAETHM
WEE - BE T a4UKes - ERAMVARMEHIREY - WHESRE £ GTES -

TRIEZ I H YR > AR E THSHRRAR R AR RGER - BTrRen RS
HENRELEE - BLEEEERNTIIERRE - Sie—E&E - FEXE 2 58t
AP SRAAETEY © IR B TERFINE TR - BWE ™ U2 BEAy TR
& TR A2 M R B A TSR S A4S MERIEY - BRI - B S4URUERVETTERS
] DUFISR IO SR ? VBV ERLAA A DA - ERRAT | AR R LR B
HIRAFEARENITELIE - A IRELERE -

B RAFHIOURE ©
SRR




B P LREIBEFFERALERAL SR ELREA

#FfaLH: TEEY [&FAFHALHETEA] A5 ¢ 441007
MEAABKBERE "RAT, EREM #£7B%18

RN RS
— ~ A (50%) - DT B3 - i 2.5 70 » iHfEEREREN

L.

A)
B)

)
D)

A)
B)
©)
D)

A)
B)
©)
D)

A)
B)
)
D)

Daniel is the CEO of CookRite, a company manufacturing kitchen appliances. The company
has been in business for the past ten years and sales were steadily increasing until six months
ago, when there was a significant decrease. Though Daniel held a number of meetings with
the top management of the company, he did not make any changes in the management
techniques and did not blame managers for the drop in sales. Which of the following, if true,
would indicate that Daniel was correct in his approach? ‘
Sources reveal that CookRite's competitors saw a similar drop in sales over the same time
period.

The price of technology used in CookRite products fell during this period, as a result of
innovations.

Demand for kitchen appliances has increased significantly over the past year.

The symbolic view of management, which Daniel holds, is the preferred method in that
industry

Which of the following is true concerning the three managerial skills?

Conceptual skills are most important for lower-level managers

Human skills remain equally important to all levels of management.

Technical skills tend to be most important for middle-level managers.

Technical skills increase and conceptual skills decrease in importance as a manager climbs
the organizational chart.

Christopher, who is based in the U.S. has been offered a chance to work in Thailand. He finds
that in this society people are expected to look after others in their family (or organization)
and protect them when they are in trouble. This society tends to support

individualism

monotheism

collectivism

Parochialism

The board of directors of Acme Generating Corporation is meeting to consider the
construction of a new electricity generation facility somewhere along the Muspetan River
basin. The city of Muspetan has a high Air Pollution Index and the increasing amount of
garbage is adding to the city's woes. Director Appleton would like the facility to be a coal-
burning plant located in a remote area because the cost involved is moderate. Director
Witworth wants a nuclear plant because this will not add to the city's already serious pollution
problem, while taking care of its electricity requirements. Director Jossleman wants a plant
that uses combustible fuels collected from the city's garbage. He wants the plant to be located
near the downtown government area so that the steam could be used for heating the
government buildings after it has passed through the generating turbines.

Director Witworth is following which of the social responsibility views?

classical view

market view

activist view

socioeconomic view
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5 Larry is an HR manager with Merlin Infosystems. He is in charge of recruitment for entry-

10

11

A)
B)
C)
D)

A)
B)
C)
D)

A)
B)
C)
D)

A)

B)
)
D)

A)
B)
C)
D)

A)
B)
C)
D)

A)
B)

D)

level positions in the company. He is of the view that job interviews should provide a realistic -
job preview. Which of the following is Larry likely to do during job interviews?

intimating the employee about possible overtime :

promise a vibrant, fun work culture at the office

explain all the positive points, including the flexible nature of work

over-embellish the growth opportunities for employees

Suppose a manager cheats on an expense account. Into which of the following areas of
managerial ethics does this behavior fall?

employee behavior toward the organization

organizational behavior toward the employee -

other economic agents' behavior toward the organization

organizational behavior toward other economic agents

Howard Industries is having a CPA firm review its financial records to confirm their
conformance with generally accepted accounting principles. Howard Industries is in the
process of a(n)

preliminary examination

audit

company-wide analysis

portfolio analysis

Which of the following is NOT considered a part of total quality management?
Directing for quality

Planning for quality

Advertising for quality

Organizing for quality

A stock's market value is

the price of the stock plus the prev1ous year's dividend

the face value of a share of stock, set by the issuing company's board of directors
the average price of one share of stock over the past year

the current price of a share of stock in the stock market

According to research, which statement is true regarding females as leaders?
Females have a tendency of being less democratic than males.

Females tend to be more autocratic than males.

Females tend to be more charismatic than males.

Females are not necessarily more nurturing than males.

McDonald's decided to add breakfast to its hours of operation in order to increase the number
of customers. This was an attempt to improve the organization's:

Effectiveness.

Planning. |
Leading strategy. ' v |
Efficiency. !
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12 When a CEO draws a picture of the reporting relationships that will occur
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A)
B)
)
D)

A)
B)
C)
D)

A)
B)
C)
D)

A)
B)
C)
D)

A)
B)
C)
D)

A)
B)
)

A)
B)
)
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under a management reorganization, this is an example of:
Planning.

Leading.

Organizing.

Demonstrating.

Samantha, who runs her own small business, treats all her employees,
customers, and suppliers fairly, regardless of their age, gender, or ethnicity.
She is acting in the role by doing this.

Decision-maker

Liaison

Leader

Figurehead

A plant supervisor orders some raw materials whenever his raw materials
inventory reaches a certain point. This is an example of which type of
decision?

Intuition

Satisficing

Nonprogrammed

Programmed

In general, the more complicated the technology, the the need for a flexible
organizational structure; and the routine the technology, the

appropriate is the use of a formal organizational structure.

greater; more; less

less; more; less

greater; more; more

greater; less; less

Managers should design flexible structures for their organization when:
its environment is stable

its technology is simple

its workforce is highly skilled

its strategy is well understood

Subway Corporation made the basic decision that it would combine the jobs of "chef" and
"food server" into a single job description. This was an example of:
continuous-process technology.

a divisional structure.

a product structure.

job design.

The idea behind the concept of "job enrichment" is that a worker's responsibility
will the worker's involvement in his or her job and the worker's

interest in the quality of the goods the worker produces.
increasing; decrease; decrease
decreasing; increase; increase
increasing; increase; decrease
increasing; increase; increase ’j 3%,
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19 In general, the greater the uncertainty in the organization's environment, the
complex the organization's strategy; and the less skilled its workforce, the likely

that the organization will use a flexible organizational structure.
A) less; less
B) more; more
C) less; more
D) more; less

20 When an issue is controversial and when different managers might be expected to champion
different courses of action, the preferred technique is: : '
A) production blocking
B) brainstorming
C) team learning
D) nominal group
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